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1. What is the advantage of experimental control over statistical control? (3 pts)
2. For the following hypotheses, indicate: (2 pts per hypothesis)
a. The IV and DV and their level of measurement
b. The two best available measures of association, and how each measure would be interpreted if the value was .35
· Sex is a good predictor of a person’s preference for whether the toilet seat is left up or down.
· Happiness (not happy, somewhat happy, very happy) predicts a person’s willingness to let others go first a 4-way stop sign (very willing, somewhat willing, not willing at all).
· Income ($ per year) predicts the acres of lawn that an individual has to mow.
· Whether or not a person passes Soc 3155 influences their likelihood (likely, somewhat likely, unlikely) of battering the Geo.
· The number of prior convictions that a person has obtained will predict the number of their self-reported criminal acts.
3. Use SPSS and the GSS data to analyze the hypothesis that one’s political view (POLYVIEW) influences their opinion about whether a woman should be allowed to get an abortion for any reason (ABANY).  
	a. What is the apparent relationship in the data (sample)? (1 pt)
	b. Is this relationship statistically significant? Explain. (2 pts)
	c. What is the strength of this relationship? Explain. (2 pts)
	d. Now, introduce sex (male/female) as a control variables (as “layer” in SPSS).  How 	does gender impact the effect of political view on abortion opinions? (i.e., does it render 	the relationship spurious, do nothing, indicate a moderating/interaction effect?) (2 pts)
4. Use SPSS to examine the hypothesis that people who come from large families have lower incomes as adults.  Specifically, compute the correlation between “sibs”  and current family income (“realinc”).  
a. Interpret this relationship (significance, direction/strength).  Why might these variables be related?  (2 pts)
b. Now, calculate the partial correlation (analyzecorrelatepartial) between SIBS and family income, controlling for SEI and explain what happens. (3 pts)
